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Producers who hedge through the purchase of put options must
remember that they may be:

(Mreducing their profits compared to not hedging

(Biobligated to self their product at a lower than market price
(Clincreasing their overall risk

{mcontrolling their overall risk

{Exfacing limited lost. [ A ite]
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Assuming stock does not pay cash dividend and all options have
same expiration days and striking prices, the relationship between

American and European option premiums will be:
(MAmerican call option > European call option

(BAmerican call option < European call option
(C)American put option = European put option
(D)American put option < European put option
F)American call option = European call option. GEX S
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Below table contains the price quotes for the CBOE (Chicago
Board Options Exchange) traded MicroSoft call options and put
options. The MicroSoft stock is currently traded at $24.08. The “05
Mar 17.50" stands for an option with exercise price $17.5 and will
expire in March 2005. The table shows the option premium, the

daily trading volume, and the open interest.
—What is open interest? Why are open interests substan-tially

larger than the correspondent trading volume for all the March
options?
©List all the in-the-money calls and in-the-money puts (including
March and April options) in the below table.
@Explain why the 05 Apr 25.00 call is more expensive than the
05 Mar 25.00 cali?
@ For only March puts, explain why the trading volume shows a
pattern symmetric to the “05 Mar 25.00" put.
MSC Spot price: 24.08
Mar 10,2005@11:57ET (Data 20 Minutes Delayed)

Trading; Open .| Trading| Open
Voiumi Entzres’s Puts Premium Volurng lntgrest
05Mar17.50) 11.00 0 288 {05Mar17.50] 0.10 0 3388
05Mar20.00 4.10 27 867 |05Mar20.00; 0.30 78 3719
05Mar22.50] 2.30 247 332 |0BMar22.501 0.65 118 | 4521
05Mar25.00] 0.75 410 | 5087 [05Mar25.00| 1.75 629 | 11330
05Mar30.00| 0.05 108 | 12432 |056Mar30.00| 6.10 158 | 12248
05Mar35.00| 0.05 22 119668 (05Mar35.00] 11.00 68 | 13319
05Mar40.00] 0.05 0 8384 105Mar40.00| 16.00 20 2118
05Mar45.00] 0.05 2093 |05Mard5.00| 18.70 0 1001
05Ap120.00 0 0  |05Apr20.00| 1.30 3 "
05Apr22.50 0 0 0 105Apr22501 215 15 0
05Apr25.001 1.50 208 | 1586 |05Ap25.007 3.20 843 | 4033

Calls  |premium
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If a firm earns the WACC as an average return on its average-risk

assets, then;
(Ayequity holders will be satisfied, but bond holders will not.

(Bbond holders will be satisfied, but equity holders will not
(Crall investors will earn their minimum required rate of return
(Dthe firm is investing in negative NPV projects. [ x3et]
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With corporate taxes and bankruptcy costs, the value of the firm is
maximized when which of the following is/fare minimized?
I The weighted average cost of capitai.
I The probability of bankruptcy.
Il The cost of equity capital.

IVThe cost of debt capital.
(A1 only ® 1 and I only
©M and IV only I, I and IV only. [+.Lm#])
67 (A)
I TEHE - 2 mMEERE U » B EEEEENA (WACC) EER
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E(A)
Ry x(1=T) = YTM x(1=T) =10%x (1 - 25%) = 7.5%

.15 BEESHE ilfieglt i

A company has just been faken over by new management that
believes it can raise earnings before taxes (EBT) from $600 fo
$950, merely by cutting overtime pay and reducing cost of goods
sold. Prior to the change, the following data applied:

Total assets: $8,000 Debt ratio: 45%
Tax rate: 35%  Basic Eaming Power ratio (BEP). 13.3125%
EBT: $600  Sales: $15,000

These data have been constant for several years, and all income
is paid out as dividends. Sales, the tax rate, and the balance
sheet will remain constant. What is the company’s cost of debit?

{ GHef—FHARE ]
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B{EFE= =12.92%
B = e 3,600 ’

B EEFIR = Ry(1-T) =12.92%x (1 - 35%) = 8.4%
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if a corporation has an average tax rate of 40%, the approximate,
annual, after-tax cost of debt for a 15-year, 12%, $1,000 par value

bond, selling at $950 is:

(M10% (110.6%
©7.6% (D)6.0%. (Rxne]
64(C)
120 120 120 1,120
950= + + R
(I+YTM)'  (+YTM)? (1+YTM)? (1+YTM)?

YTM = 12.76%
NEBEMNEREREER  HOTRBESHIARR ¢

Ry % (1-T) = YTM x (1-T) = 12.76% x (1 ~ 40%) = 7.6%

AR YIMATF AP AE0CKE - RaE— Rl E%E -

[ M-P 120*'I’00(;5 950

= 14 = =12.65%

YIM =N = @305 000y 128
2 2

12.65% x (1 —40%) = 7.6%




